
Year 2 Maths  

 

37 + 28 =       8 x 5 =  

 

 

51 – 32 =        36 +            = 74 

 

 

15 divided by 5 =       - 12 = 91   

 

 

 

There were 20 horses on the farm. They were split evenly into five fields. How 

many horses were in each field? 

 

 

 

Simon bought 3 packs of yoghurts. There were 4 yoghurts in each pack. How 

many yoghurts were there altogether?  

 

 

 

There were 16 apples on the tree. 11 more grew in the next few weeks. How 

many apples were there altogether?  

 

 

 

Cindy had 26 pens. She tested them and 13 had run out so she threw them away. 

How many pens did Cindy have left? 
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Can you answer these questions using an efficient strategy? 

 

 

 

Amy thinks of a number. Her number is: 

 An even number 

 It is between 20 and 25 

 Has two different digits 

What is her number? 

Explain your reasoning. 

 

 

Think of an even number that is more than 30 and less than 50. Can 

you find all of the possibilities? How many are there?   

Explain your reasoning.  

 

Bill thinks there are 4 ways to share 12 equally.  

Is he correct? Do you agree?  

e.g.         14 + 6 = 
4 + 6 = 10, plus 10 more = 20 

8 + 7 + 3 = 

37 – 13 = 

 

13 + 20 + 10 = 

72 – 68 = 

 

29 – 14 = 

 9 + 9 + 9 = 

 

16 + 16 =  

50 – 30 – 12 =  

 

120 divided by 10 = 
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All letters have a line of symmetry. Is this true?  
Draw the lines of symmetry on the letters of the alphabet. 

 

A   B   C   D   E   F   

G   H   I   J   K   L   

M   N   O   P   Q   R   

S   T   U   V   W   X   

Y   Z 

Is the statement true or false? ________________________ 
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I can apply my knowledge of mental arithmetic to solve number sentence.   
 

6 x 5 = ____ 

12 + 12 = ____ 

20 + ____ = 60  

10 + 30 + 10 = ____ 

½ of 16 = ____ 

20 – 7 = ____ 

¼ of 12 = ____ 

40 ÷ 10 = ____ 

double 6 = ____ 

3 + 4 + 7 = ____ 

2/4 of 8 = ____ 

76 – 23 = ____ 
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